log CS

3 3 3 3 3 3 3 3 3
21— X% 2 = 2= 2= 2
1 1 1 \ 1 1 \
\ \
o LHV ) o LHV o LHV o LHV o LHY \
15 6 18 15 6 18 15 6 18 15 6 18 15 6 18 15 6 18
3 3 3 3 3 3
*
2 = 2
1 1
NN \ o LHV \
15 6 18 1.5 6 18 15 6 18 15 6 18 15 6 18 1.5 6 18
3 3 3 3 3 3
2 2 2 =
—
1 N 1
\
0 HV 0 HV 0 oD
15 6 18 15 6 18 15 6 18 15 6 18 15 6 18
3 3 3 3 3 3 3 3 3
*
2 2 2 2 2 — 2 —
N e MO _ \
1 1 1 1 NI 1
\ \ \ \ \
0 oD 0 OD 0 HV 0 OD \ 0 OD \ 0 oD
15 6 18 15 6 18 15 6 18 15 6 18 15 6 18 15 6 18 15 6 18
3 3 3 3 3 3
x First Test Second Test
2 2 2 2 = 2 e o | ™ M&S Sine % M&S Sine
§‘+ GC_, —@— CSV-1000 --4=-- CSV-1000
1 \ EI_," —— quick CSF --3¢-- quick CSF
o LHV \ HV ) \ HV: healthy vision
15 6 18 15 6 18 OD: prior history ophthalmologic disease
Spatial Frequency (cpd)




